Exercises

1. State, in your own words, the meaning of the following terms:

	a) code block
	b) simple if statement

	c) if-else statement with alternative
	d) nested if-else-if statement


2. Describe, in your own words:

a) what happens when the condition fails in a simple if statement.

b) what happens when the first condition fails in an if-else statement.

3. What is the exact syntax:

	of a simple if statement
	of an if-else statement

	of a nested if-else-if statement
	


4. What is the compiler error message, if any, if you:

a) do not enclose the block of code for the if part of an if-else statement within grouping symbols.

b) do not enclose the boolean condition in parentheses in an if statement
5. What is wrong with the if statement listed below? Rewrite it to fix that error (hint: what if someone earns $1000.00?). Your new if statement should contain nested if-else-if statements.

if ((balance >= 2000) && (balance <= 3000))

{  System.out.println("Your balance is between $2000 and $3000");

   System.out.println("Your interest rate will be 3.5%");

}

else

{  System.out.println("Your balance is larger than $3000");

   System.out.println("Your interest rate will be 4.5%");

} 

6. Given the code fragment on the right:

	a) what is the value of x, y, and z if x = 4, y =  9, z = false.

b) what is the value of x, y, and z if x = 1, y = 23, z = true.

c) what is the value of x, y, and z if x = 7, y = -21, z = true. 


	int x, y;

boolean z;

if (x > 3)

{  z = true;

   x = 7;

   y *= 4;

}

else if (x == 4)

{  z = false;

   x = 9;

}

else

{  z = true;

   y = 8;

}


7. Write some Java code segments that solve the indicated tasks (you do not have to write a complete program, a small code segment will suffice):

a) Code to decide whether an integer number is positive, negative, or zero 

8. Assume that two double variables x and y have been declared and contain some unknown values. Write some code that:

a) swaps both values so that the first contains the second value, and the second one contains the first value 

b) swaps values if necessary so that the first one contains the bigger of the two values, the second one the other value. 

c) swaps values if necessary so that the first one contains the smaller of the two values, the second one the other value.

